Ratio to CMS

1000/c 2do)/d(m_1 + m_2) [1/GeV]

- =
H
o < <,
LR RN RO L L AL AL AL AL BRI N L R

=

=
<
I

1072

107

10

[EEY

|

0.5

7000 Qev PP

Jets
T I

Jet Mass (anti-kT(o.7), 2500<pT<6OO, ly|<2.5)

m CMS
—a4— Pythia 8.201 default
Pythia 8. 201 default-noFsr

Pyfiifg 8.201 default-noRap
V4 S

N
/ N
N

N
N
/ \
N\

|
e
IIII|IIII|IIII__IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| I

T T ¥ T E O T T T S I
0 100 200
(m_1+m_2)/2[GeV]

Rivet 3.1.0, = 7.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


